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Question #1 (10 points)

Assume that gn insured seeks to change the beneficiary of her life insurance policy in a
jurisdictio t does not require technical compliance with the policy’s requirements to
eneficiary, The insured dies. Circle each of the following statements that

e for an insured to effectively change her life insurance policy?

There is evidence the insured took affirmative action or otherwise
did substantially all that she could to demonstrate that intention,

IIL There is some non-oral evidence of intent to change the
beneficiary.

{ ; There is evidence the insured intended to change the beneficiary.

Question #2 (20 points)
What is the test for determining the time of death under the Uniform Determination of
Ceath Act? If the death certificate supports your vezzion of the time of dcath, is this of

any value to you? {10 words or less) W %\} AP b%m
gt it ol 1s Lorcloave,fol.

An infant is injured when she [ell at Ray Aaron’s home. At the time of the incident, é() UV, !
Aaron was preparing lunch for himself, his own children, and the other children for %&2
whom he was babysitting, For several mogths prior to this incident, the Defendant, a
retired physician, often babysat the chijg#n of various friends and neighhors in hig home
during the day. The infant, throu parents, brings a negligence action against Aaron,
In determining wh Id get coverage under his homeowner’s insurance
olicy, what critig. Id you like to know? (15 words or less .
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Question #4 (20 poi T T end On- T30 o o)
Ginger Melden inadvertently’hrows her old dilapidated backg mto)avtrc;sh bumgi —6@ ?j
She finds out that her Insurance Law textbook wag gfkpack. (She cries,) Her
book was spevilically covered under a fire in gfCy that covered losses to

" enies coverage and Ginger sues.

personal property in a fire. He
Who wins? (1 word max) , ,

Question #5 (20 points) _
stfat is the djfference by ¥ fire and a hostile fire? (25 words)
s, ts bronde, phercdy  hogals iRl

Uncle Junio
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Bonus Question: (5 poitls)’ 7 £
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